MERCRUISER (350 MAG. EFI SKI [GEM+)

G 350%-2 1336

Serial Mbr Range: OFE20707 THRU OK.040005 )

¥ STARTER AMD ALTERMATOR

Ref |Clazs|Part Description Qt Comment
2 10 B05343 2|SCREW 2
3 11 B0E949|MUT [3hdkd) 1
4 11 40021 1| MUT [Ghikd) 1
5 a5 TIE95|IMSULATOR 1
A B05884T |ALTERMATOR 1
7 12 96457 |PHENOLIC wWaSHER 1
a2 13 26996 | LOCK\WASHER 1
9 11 79989 | MUT [10-24) 1
10 13 26992 | LOCKWASHER 1
11 11 94330 NUT [1./4-20) 1
12 10 26487 | SCREW 1
13 13 38048 | LOCKWASHER 1
14 12 34714 '"WASHER 1
15 10 74824 | SCREW [1-1/4") 1
16 13 39107 |LOCKAWASHER 1
17 12 26168 '"WASHER 1
18 23 B2095 SPACER 1
19 57908 11| TUBING 2
20 85013T |BRACE 1
21 93175T|BRACKET 1
22 10 ATE1Z | SCREW [1-1/4") 3
23 13 35048 | LOCKWASHER 3
24 10 48308 | SCREW [3-3/4") 1
25 12 20553 '"WASHER 2
26 23 33186 BUSHING 1
27 11 23161 |NUT 1
28 aa FA023497 |FUSE ASSEMELY [0 AF) 1
29 11 21825/ MUT 1
a0 13 26996 | LOCKWASHER 1




